50, will be treated as méi_l’practiee.: F

4

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

: Important Note : 1. On complefing yodrfénswers, compulsorily draw dlagbnal cross lines'on‘the remainingblénk pegeSl ey

- Time: 3 hrs.
4, Note: A’hswer ahy FIVE full questions,‘

o w

o

Draw the connection between proceSsor and memory and
component in the connection,
What is the function of an assembler d1rcct1ve‘7 Gwe two examples of assembler dlrec‘uves e
used for the reservation of’ memory locations for Vanablgs state their functions. (05 Marks)
With the help of suitable: examples 1llustrate encodmg\of machme mstruct1ons (08 Marks) -
Explam how the followmg typical mstructrons an be executed w1th relevant steps:
MOVE . NUM1, R2 , A - - \ ST
ADD“R3, NUM2 . Senates Vo (05 Marks) 5 ke
- Explain. B}g—End1an and Little-Endian method of byte addressing Wlth an example (07 Marks) -
Explain sh1fl and rotate operatlons A (08 Marks)
M.@_ﬂfﬁ P, %
i \ h" multlple pr1or1ty"
levels and multiple dev1ues mn each level. . g (10 Marks)
With a block diagram, explam how the pnnter 1s mterfaced to processor , (05 Marks)
Briefly discuss the main phases involved in '
Define and explain interrupt nesting & (05 Marks)
What is bus arbitration? Explain the centralized arbltrauon with a neat dlagram ~ (08 Marks)
b Explam the tree structure of USB Wlth split bus operanon ; ~ (07 Marks) ookt
; Module-3 ‘ | CuRe el
‘ ',;Dlscuss the internal orga zatlon of a 2Mx8 asynchronous DRAM chip. - - (10 Marks)
4 Briefly explam any four non—volatlle memory concepts. J - (05 Marks) - -

" Calculate the average access time experienced by a processor ifa cache b1t rate is 0.88 , miss
penalty is 0.015 milliseconds and cache access time is 10 microseconds. - (05 Marks)
Explam the workmg of 16 ega byte DRAM ch1p conﬁgured as lMxl6 memory chlp
Show with diagram the me: ory hierarchy_'wuh respect to speed, size and cost. (05 Marks) -
Define : (i) Hit rate (i) Miss rate ©  (iii) Miss penalty - . (05 Marks) - -

_— ‘Module-4. ‘ _ TP SR
Write a note on' fest adders. - : e - (05Marks) -
Discuss Booth algonthm by multiplying the number —13 and +l iy i (08 Marks) -
Ilustrate “the steps for non-restonng d1v1510n algonthm on the following: data . S

dividend = lOOO d1v1sor— 11 -, ; e ~ » 5 (07 Marks) T

(05Maiks) .

(10, Marks) ; ‘,
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OR
Write the logic diggram of 4-bit carry lookahead aﬁm

Explain bit pair recording technique by multiplyiz g the numbers +13 and — 6

(‘66 Marks)\
(04 Marks)

Module—Sy

2 What is plpehmng? Explam the basis: oncept of pipeline perfonnance with neat sketch. -
: (08 Marks))

de51gn of control.unit and

; "What 18 the purpose .
hardw1red control unit*

& (10 Marks)
tion pipeline with t1m1ng diagram.

(10 Marksh




